A 100 uL (microLiter) sample of a 7.0 millimolar protein is diluted to 500.0mL. If the error in measurement of the molarity(M) is ±0.02 mM, of the uL pipet is ±1 uL, and of the volume of the 500 mL flask is ±0.15 mL, determine how the molarity of the resulting solution should be reported. That is, what is the molarity of the resulting solution, and what error is there in this measurement? Recall that the molarity M of a solution is given by M= n/V where n is the number of moles of solute, and V is the volume of the solution in liters. MinitVinit=MfinalVfinal
